[ Efficiency vs vertpos |
0.05

0.045
0.04
0.035
0.03
0.025
0.02
0.015
0.01
0.005

&

2

i
&
4

TTTT[TT T T T[T I [T T T T[T T T T[T I [ TT I T[TTITT[TTTT
I [T I I | | | |

dbly
1.0
1B S b TERERE. . R

0.95

1072 107

1 10

— %IIEIJ ™ U”H IVID
—_—

— E Tr %/D OIorl MS
@: Siag M‘ong‘MS

0.02

0.018F
0.016F
0.014F
0.012F

0.01F
0.008F

0.008f -+ k- J-fH{{ oo
0.004f---+-s-eof-glikeeees ;

0.002F -+t fAlieeend

...........

0.95!

0.05

0.045
0.04
0.035
0.03
0.025
0.02
0.015
0.0
0.005
104

1.05




	Contents
	Page 1


